% Linearized knot diagam
ﬁ/ K*\/l/ 4 5 7 8 3 9 2 1 6

Solving Sequence

6,9?7?1,4?2 . 3 c 5 c 8 C2,C4,C7
A knot diagrarrﬂ 0 ? ! 3 > 8

Ideals for irreducible component#ﬂ)f Xpar

I = (216472320u® — 19642584007 + - - - 4 2595371149b — 196454684,
— 2301720 — 27804388u*™ + - - - + 370767307a — 679741065, u?® — u?® + .- + 3u + 1)

* 1 irreducible components of dim¢ = 0, with total 29 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L
I = (2.16 X 108u?® — 1.96 X 103437 + - .- +2.60 x 10%b — 1.96 x 108, —2.30 X
105428 —2.78 x 1074?74 .- - +3.71 X 108a — 6.80 X 108, u?® —u?® 4 ...+ 3u+1)

(i) Arc colorings
1
ag =
ag =
a7 =

[

=

.000620799u28 + 0.0749915u?7 + - - - — 3.83846u + 1.83334
aqg = \ —0.0834071u2® + 0.0756831u2" + - - - — 2.93896u + 0.0756943

—0.0028189212% — 0.833272u2" + - - - — 4.55210u — 0.116626
0.833292u2® — 0.836091u>" + - - - — 3.22782u — 0.836111

—0.00528313u%® + 0.821590u2” + - - - — 0.672045u + 1.83325 )

ag =

az = \ —0.0166708u?® + 0.0163909u2" + - - - — 0.722782u + 0.816389

0.00446172u28 + 0.730031u" + - - - — 2.03460u + 2.48337 >

a5 =

0.0666831u%® — 0.0655635u" + - - - — 1.10887u + 0.734444

1)
= ()

(ii) Obstruction class = —1

ag —

_ 8357107928 28+ 6279939276 27+ S 20588201632u+ 13962231674
2595371149 & 2595371149 & 2595371149 2595371149

(iii) Cusp Shapes =



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u?® —5u* 4+ tu—1
C2,Cs u®® +u®® -+ 5u—1
3 u? —u® . —u—19
Ca u? Fu® 4 421w — 11
Cp, Cy u? Fu® 4 4 3u—1
cr W 3B 4 fut1
c8 u? 1B 4+ 3u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 v 1 3yB By —1

C2,Cs y?? =21y + . — 5y —1
€3 v + 15y + ... 4+ 1103y — 361
Ca y® +31y* + ... — 1869y — 121

C6 Co Y +11y* + -+ 3y — 1
cr v 5y 443y —1
Cs y?? + 15y® + - + 175y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape

= 0.647818 + 0.7822121
= 1.174800 + 0.1319091 4.48635 + 0.551251 10.94303 — 0.197581
= 1.35368 — 1.532161

= 0.647818 — 0.7822121
= 1.174800 — 0.1319091 4.48635 — 0.551251 10.94303 + 0.197581
= 1.35368 + 1.532161

= —0.559219 + 0.8615881
= —2.56606 + 1.188241 1.99105 — 2.230641 | —15.0558 — 8.87741
= —2.19707 + 1.460121

= —0.559219 — 0.8615881
= —2.56606 — 1.188241 1.99106 + 2.230641 | —15.0558 4 8.87741
—2.19707 — 1.460121

0.099472 + 1.0407101
—0.040185 — 0.5570551 | —3.62029 — 0.986107 | —3.43918 + 1.152361
—0.559691 + 0.3718071

0.099472 — 1.0407101
= —0.040185 + 0.557055] | —3.62029 + 0.986107 | —3.43918 — 1.152361
= —0.559691 — 0.3718071

= 0.923879 + 0.5540807
—1.061880 4 0.9153071 5.89129 — 7.106581 7.40494 + 4.091371
= 0.170095 + 1.3800901

0.923879 — 0.5540801
—1.061880 — 0.9153071 5.89129 4- 7.106581 7.40494 — 4.091371
0.170095 — 1.3800901

0.644129 + 0.9029401
—1.03409 + 1.439011 4.11625 + 4.487631 9.60010 — 6.678211
0.565379 + 1.2691701

0.644129 — 0.9029401
= —1.03409 — 1.439011 4.11625 — 4.487631 9.60010 4 6.678211
= 0.565379 — 1.2691701
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Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = —0.528836 + 0.9801051
a = —0.540279 — 0.8694581
b= —0.347922 — 1.3502201

—0.15788 — 2.805141

1.82209 + 1.852031

u = —0.528836 — 0.9801057
a = —0.540279 + 0.8694581
—0.347922 4 1.3502201

—0.15788 4- 2.805141

1.82209 — 1.852031

—1.034250 + 0.4858511
—0.549331 — 0.0394511
—0.348963 — 0.6753921

5.14963 — 1.802231

13.69706 + 3.378201

—1.034250 — 0.4858511
—0.549331 + 0.0394511
—0.348963 + 0.6753921

5.14963 4 1.802231

13.69706 — 3.378201

0.641135 + 0.5649191
1.42824 — 0.886601
—0.129556 — 1.4003901

0.91572 — 2.152861

5.11617 + 3.694791

0.641135 — 0.5649191
1.42824 + 0.886601
—0.129556 + 1.4003901

0.91572 4 2.152861

5.11617 — 3.694791

—0.447738 + 0.6890001
1.79794 — 0.280161
1.170450 4 0.1061451

0.78940 — 1.377621

5.11267 4 4.751491

—0.447738 — 0.6890001
1.79794 + 0.280161
1.170450 — 0.1061451

0.78940 4 1.377621

5.11267 — 4.751491

0.618739 + 1.0163401
—1.74109 + 0.573011
—1.33104 + 1.932071

—0.38505 + 7.125561

2.65443 — 8.104251

0.618739 — 1.0163401
= —1.74109 — 0.573011

b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= —-1.33104 — 1.932071

—0.38505 — 7.125561

2.65443 4 8.104251




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.111222 + 1.2670201
a = —0.303660 + 0.1588241
b= 0.107002 — 0.4997501

—1.26594 — 5.186351

1.49328 + 7.031001

u = —0.111222 — 1.2670201
a = —0.303660 — 0.1588241
b= 0.107002 + 0.4997501

—1.26594 + 5.186351

1.49328 — 7.031007

u = 0.708050 + 1.1052401
a= 156079 —0.793261
b= 1.27636 — 1.948481

4.19521 + 13.099901

5.01719 — 8.122111

u = 0.708050 — 1.1052401
a= 1.56079 + 0.793261
b= 1.27636 + 1.948481

4.19521 — 13.099907

5.01719 4- 8.122111

u = —0.770179 + 1.1413501
a= 0.718662 + 0.4194111
b= 0.461012 + 0.9143651

3.17430 — 4.695691

8.95566 + 8.131691

u = —0.770179 — 1.1413501
a= 0.718662 — 0.4194111
b= 0.461012 — 0.9143651

3.17430 + 4.695691

8.95566 — 8.131691

u = —0.195750 + 0.5692521
a= 195836 —0.881351
b= 0.778642 — 0.4971911

0.70687 — 1.360691

4.42210 + 4.479761

u = —0.195750 — 0.5692521
a= 195836+ 0.881351
b= 0.778642 + 0.4971911

0.70687 + 1.360691

4.42210 — 4.479761

u = —0.272051
a= 3.39557
b= 1.06327

2.30899

2.51260




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1 w2 5 g1
C2,C5 u? +u 4+ 4+ bu—1
€3 uw? —u? 4 —u—19
€4 u? +u? 4 21— 11
C6, Co u? 4+ 4 3u—1
cr u? +3u 4 utl
8 u? F 11w 4 4 3u—1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1 v 3y 4 — By —1

€2, Cs5 v — 21y . 5y —1

€3 y* + 15y°% + - - 4+ 1103y — 361

€4 y? +31y% + ... — 1869y — 121

65 C9 v 1y 3y — 1

cr v 5y 43y — 1

Cs y?? + 15y + - + 175y — 1




